Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSI	ON : 2018-2019 CLA	ASS : BE-CS			BRAN	NCH : E	NGINEER	ING					SEM	IESTER / T	RIMEST	ER : S	UMMER			MONTH OF EXA!	M : JUNE	-2019
		U	BT30	021 (3)	CS30	005(3)	CS4	107(3)	CS4	109(4)	CS42	205(3)	CS61	107(3)	EC20	001(3)	EC32	201(4)		mom. r		
ROLL NO	NAME	L	EC4	205(3)	EE22	201 (4)	MA1	201(4)	MA2	201(4)	MA4	109(3)	ME20	001 (3)		-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6026/16	ABHISHEK LAL	U	-	-	-	-	-	-	-	-		-	-	-	F	0.0		-	40.0	11.0	3.64	-
		L	-	-	-	-	С	20.0	С	20.0	-	-	-	-	-	-	-	-				
BE/6029/16	NITISH KUMAR NAYAK	Ţ	-	-	-	-	С	15.0	-	-	F C	0.0 15.0	- В	18.0	-	-	-		48.0	12.0	4.00	-
		II				<del></del>	=	<del>-</del>	H		_	- 15.0	-	- 10.0								
BE/6040/16	KRITIKA KUMAR	L	-	-	-	-	F	0.0	-	-	-	-	-	-	_	-	_	-	00.0	4.0	0.00	=
		U	D	12.0	С	15.0	-	-	-	-	С	15.0	-	-	С	15.0	-	-				
BE/6041/16	SHWETA RANJAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57.0	12.0	4.75	ī
BE/6050/16	ARCHNA KUMARI	U	-	-	-	-	-	-	-	-	-	-	-	-	В	18.0	-	-	18.0	3.0	6.00	_
BE 0030/10	THE INTERIOR	L	-	-	-	-	-	-	-	-	-	-	-	-		-			10.0	5.0	0.00	
BE/6062/16	SAURABH RAJ	U	-	<u> </u>	-	-		-	-	-		-	-	-		-	D	16.0	32.0	12.0	2.67	-
		L	-	-	D	16.0	F	0.0	-	-	-	-	-	-	-	-	-	-				
BE/6067/16	SHUBHAM PRAKASH	U	-	-	-	-		-	-	-	-	-	-	-	-	-	F	0.0	00.0	12.0	0.00	-
		L	-	-	F	0.0	F	0.0	-	-	-	-	-	-		-		-				
BE/6081/16	GAURAV KUMAR	U	-	-	-	-	-		B+	28.0		-	-	-	-	-	-	-	28.0	4.0	7.00	-
		L	-	-	-	-	-		-	-	-	-		-	B	18.0						
BE/6089/16	ANSHU	L					C	20.0	H	_	ᆖ	_	_	-	-	- 16.0		-	38.0	7.0	5.43	-
		U	-	-	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-				
BE/6100/16	RAM KRISHNA	L	-	i -	-	-	-	-	В	24.0	-	-	-	-	-	-	-	-	44.0	8.0	5.50	-
BE/6110/16	SUDHANSHU BHARTI	U	-	-	B+	21.0	-	-	-	-	-	-	-	-	-	-	В	24.0	63.0	10.0	6.30	
BE/0110/16	SUDNANSNU BNAKII	L	-	-		-		-	-		В	18.0	-	-		-			63.0	10.0	6.30	•
BE/6131/16	ANUSHREYA	U	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	-		15.0	6.0	2.50	-
		L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

BT3021 (3) CS3005(3) CS4107(3)	: BIOLOGICAL SCIENCE : OBJECT ORIENTED PROGRAMMING USING JAVA : OPERATING SYSTEMS	EC4205(3) EE2201 (4) MA1201(4)	: MICROPROCESSOR AND MICROCONTROLLER : PRINCIPLES OF ELECTRICAL ENGINEERING : ENGINEERING MATHEMATICS
CS4109(4)	: COMPUTER SYSTEM ARCHITECTURE	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
CS4205(3)	: DATABASE MANAGEMENT SYSTEMS	MA4109(3)	: PROBABILITY STATISTICS &NUMERICAL TECHNIQUES
CS6107(3)	: COMPUTER NETWORKS	ME2001 (3)	: PRINCIPLES OF MECHANICAL ENGINEERING
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
EC3201(4)	: DIGITAL ELECTRONICS	-	

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSIC	ON : 2018-2019	CLASS : BE-EC		BRAN	ICH : EN	NGINEERIN	IG					SEMI	ESTER / TI	RIMESTE	R : SU	MMER		N	MONTH OF EXAM	И : JUNE	-2019
ROLL NO	NAME		M1201(4) [A1201(4) PT.		203(4) 2201(4) PT.		207 (3) 1131 (3) PT.		203(3) 009 (3) PT.		204(2) 201 (4) PT.	GR.	202 (2) - PT.		04 (2) - PT.		201(4) - PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BE/6084/16	AMAN	U -	=	C C	20.0	- -		B -	18.0	- -	- -		- -	- -	- -	- -		58.0	11.0	5.27	-
BE/6103/16	ATULYA YASH	U - L -	-	-	-	- D	12.0	- F	0.0	-	-	A -	16.0	A -	16.0	-	-	44.0	10.0	4.40	-
BE/6108/16	ADARSH KUMAR	U - L -	-	C -	20.0	C -	15.0	-	-	-	-	-	-	-	-	-	-	35.0	7.0	5.00	-
BE/6114/16	BHANU PRATAP SINGH	U - L B+	- 28.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28.0	4.0	7.00	-
BE/6138/16	RISHU PRIYA	U D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16.0	8.0	2.00	-
BE/6144/16	TESHU	U - L -	-	-	-	-	-	B -	18.0	- C	20.0	-	-	-	-	C -	20.0	58.0	11.0	5.27	-
BE/6147/16	ABHISHEK RAJ	U -	-	-	-	-	-	-	-	A+ Ex	18.0	-	-	-	-	A -	32.0	90.0	10.0	9.00	-
BE/6148/16	ANKIT KUMAR	U - L -	-	-	-	-	-	-	-	- Ex	40.0	-	-	-	-	-	-	40.0	4.0	10.00	-
BE/6149/16	ADITYA ANIMESH SAHAY	U B	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	4.0	6.00	-
						=							=				=				

 AM1201(4)
 : ENGINEERING MECHANICS
 MA1201(4)
 : ENGINEERING MATHEMATICS

 EC4203(4)
 : ANALOG COMMUNICATION SYSTEM
 MA2201(4)
 : ADVANCED ENGINEERING MATHEMATICS

 EC4207 (3)
 : ELECTROMAGNETIC THEORY
 MSH1131 (3)
 : PRINCIPLES OF MANAGEMENT

 EC5203(3)
 : MICROWAVE ENGINEERING
 PE6009 (3)
 : ENGINEERING ECONOMY

 EC5204(2)
 : INTELLIGENT INSTRUMENTATION LAB
 PH1201 (4)
 : PHYSICS

 EC6204 (2)
 : FIBER OPTICS COMMUNICATION SYSTEM LAB
 :

 EC6201(4)
 : PRINCIPLES OF ELECTRICAL ENGINEERING
 :

Jandey.

Controller of Examinations

Disclaimer

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSIC	ON : 2018-2019 CLASS	: BE-EC			BRANC	H : ENC	INEERIN	lG					SE	MESTER /	TRIMES	STER :	SUMMER	l .		MONTH OF EXA	M : JUNE	-2019
ROLL NO	NAME	U L		1201(4) 001 (3)		401(3)	EC3	201(4)	EC3	205(3)	EC42	201 (3)	EC4	203(4)	EC5	203(3)	EC52	204(2)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6123/16	PRABHAT KUMAR DWIVEDI	U	-	-	С	15.0	-	-	-	-	В	18.0	- 1	-	С	15.0	-	-	66.0	12.0	5.50	
BE/0123/10	FRABITAT KUMAR DWIVEDI	L	В	18.0	-	-	-	-	-	-	-	-	- 1	-	-	-	-	-	00.0	12.0	5.50	_
BE/6126/16	ANIMESH KUMAR	U	-	-	-	-	В	24.0	-	-	-	-	С	20.0	-	-	-	-	60.0	12.0	5.00	
BE/0120/10	ANIMESH KUMAK	L	-	-	D	16.0	-	-	-			-		-	-		-	-	60.0	12.0	3.00	-
DE/6146/16	CHV AM CUNIDAD	U	F	0.0	-	-	-	-	D	12.0	-	-	-	-	C	15.0	A+	18.0	45.0	12.0	3.75	
BE/6146/16	SHYAM SUNDAR	L	-	-	-	-	-	-	-	-	-	-		-	-	-	-	-	43.0	12.0	3./3	-

AM1201(4)	: ENGINEERING MECHANICS	HU4001 (3)	: FOREIGN LANGUAGE (FRENCH)	
CH1401(3)	: ENGINEERING CHEMISTRY	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	
EC3201(4)	: DIGITAL ELECTRONICS	-	:	1
EC3205(3)	: SEMICONDUCTOR DEVICES	-	:	Lawdey.
EC4201 (3)	: VLSI DESIGN		:	
EC4203(4)	: ANALOG COMMUNICATION SYSTEM	-	:	Controller of Examinations
EC5203(3)	: MICROWAVE ENGINEERING	-	:	
EC5204(2)	: MICROWAVE LAB	-		

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSI	ION : 2018-2019	CLASS :	BE-EE			BRA	NCH : I	ENGINEEI	RING					SE	MESTER /	TRIMES	TER : S	SUMMER			MONTH OF EXA	M : JUNE	-2019
			U	AM1	201(4)	CS2	302(2)	EC2	2001(3)	EC3	201(4)	EE2	201(4)	EE32	201(3)	EE3	205(4)	EE32	207 (3)	TOTAL OPERAT	TOTAL		1
ROLL NO	NAME		L	EE42	203(3)	EE4	207 (4)	EE5	207 (3)	MA1	201(4)	MA2	201(4)	ME20	001 (3)	PH1:	201 (4)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			╧	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		<u> </u>		1
BE/6017/16	PRANAV SINGH MUNDA		U	-	-	-	-		<u> </u>		-	С	20.0		-	-	-		-	20.0	11.0	1.82	-
			L	-	-	F	0.0		-		-	-	-	F	0.0	-	-	-	-		<u> </u>		
BE/6036/16	SWETA BHARTIYA		U	-	-	A	16.0	F	0.0	-	-	-		D	12.0	- D	24.0	-	<u> </u>	52.0	12.0	4.33	-
			L	F	0.0				<u> </u>	<u> </u>		-				B C	20.0	<u> </u>			1	<u>                                     </u>	<u> </u>
BE/6043/16	ARIHANT AKSHAY		L	-	- 0.0	<u> </u>	<u> </u>		<del>-</del>	-		-	<del>-</del>			-	- 20.0	<u> </u>		20.0	8.0	2.50	-
			U	-	-	-	-	F	0.0	-	-	-	-	-	-	_	<del>-</del>	╫	-		1		
BE/6047/16	PRAGYA PRABHAKAR		L	-	-	-	-	B+	21.0	С	20.0	-	-	-	-	-	-	-	-	41.0	10.0	4.10	-
BE/6066/16	SUPRIYA		U	-	-	-	-	F	0.0	-	-	-	-	-	-	-	-	-	- 1	31.0	10.0	3.10	_
BE/0000/10	SUFKITA		L	-	-	-	-	С	15.0	-	-	D	16.0	-	-	-	-	-	-	31.0	10.0	3.10	<u> </u>
BE/6132/16	RAJAN KUMAR		U	D	16.0	-	-	С	15.0	-	-	-		-	-		-		-	55.0	11.0	5.00	_
	ļ		L	-	-	-	-	-	-	-	-	-		-	-	В	24.0	-	-				
BE/6143/16	ARUNDHATI KUMARI		U	-	-	-	-	F	0.0	-	-	-		С	15.0	-	-	B+	21.0	36.0	12.0	3.00	_
			L	F	0.0	-	-	-	-	-	-	-		-	-	-		-	-				
BE/6150/16	ANAMIKA KUMARI		U	-	-	-	-	F	0.0	-	-	-		-	-	-		-	-	00.0	3.0	0.00	-
			L	-	-	-	-		<u> </u>	- C	20.0	-	-	<u> </u>	-	-	-	<u> </u>	-				l
BE/6160/16	VIKASH RANJAN		Ţ		-			В	18.0		20.0	F	0.0		-	<u> </u>	<del></del>	<u> </u>		38.0	11.0	3.45	-
	<u> </u>		U	-	-		-	-	- 10.0	<u> </u>	-	-	-	<u> </u>	-	_		<del>-</del>	-				
BE/6161/16	RAHUL KACHHAP		L	С	15.0	-	-	B+	21.0	В	24.0	-	-	-	-	-	-	T -	-	60.0	10.0	6.00	-
DE/(170/1/	WANAL WILMAR TURN		U	-	-	-	-	-	i -	F	0.0	-	-	-	-	-	-	-	-	15.0	11.0	1.26	
BE/6170/16	KAMAL KUMAR TUDU		L	-	-	-	-	С	15.0	-	-	F	0.0	-	-	-	-	-	- 1	15.0	11.0	1.36	-
BE/6174/16	MANISH KUMAR	·	U	-	-	-	-	-	-	-	-	D	16.0	D	12.0	A	32.0	-		60.0	11.0	5.45	_
BE 0174/10	marion Roman		L	-	-	-	-	-	-	-	-	-		-	-	-	-	-	-	00.0	11.0	5.45	

AM1201(4)	: ENGINEERING MECHANICS	EE4203(3)	: ELECTRICAL MACHINE I
CS2302(2)	: DATA STRUCTURE LAB	EE4207 (4)	: DIGITAL SIGNAL PROCESSING
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EE5207 (3)	: POWER SYSTEM – I
EC3201(4)	: DIGITAL ELECTRONICS	MA1201(4)	: ENGINEERING MATHEMATICS
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	ME2001 (3)	: PRINCIPLES OF MECHANICAL ENGINEERING
EE3205(4)	: NETWORK THEORY	PH1201 (4)	: PHYSICS
EE3207 (3)	: ELECTRICAL ENERGY GENERATION & CONTROL	-	

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE\_IT-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee , the following is the result of BE\_IT - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSIC	ON : 2018-2019	CLASS : BE_IT			BRAN	CH : EN	NGINEERI	NG						SEMESTE	R / TRIME	STER :	SUMME	R		MONTH OF EXA	M : JUNE	3-2019
ROLL NO	NAME	U L	AM1	201(4)	CH14	401(3)	EC320	01(4)	HU4	001 (3)	IT30	)23(3)	IT40	23 (3)	MA12	01(4)	PH12	201 (4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6088/16	VARUNESH KUMAR	U	F	0.0	-	-	F	0.0	-	-	-	-	-	-	F	0.0	-	-	00.0	12.0	0.00	,
BE/0088/10	VARUNESH KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	12.0	0.00	
BE/6153/16	SHRESTH BARERIA	U	-	-	D	12.0	-	-	В	18.0	С	15.0	D	12.0	-	-	-	-	57.0	12.0	4.75	,
BE/0133/10	SHRESTH BAKERIA	L	-	-	]	-	-	-	-	-	-	-	-		-	-	-		37.0	12.0	4.73	
BE/6157/16	SOURABH KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	В	24.0	24.0	4.0	6.00	,
BE/013//10	SOURABH KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	4.0	6.00	_

AM1201(4)	: ENGINEERING MECHANICS	-	:
CH1401(3)	: ENGINEERING CHEMISTRY	-	:
EC3201(4)	: DIGITAL ELECTRONICS	-	:
HU4001 (3)	: FOREIGN LANGUAGE (FRENCH)	-	:
IT3023(3)	: JAVA PROGRAMMING	-	:
IT4023 (3)	: OPERATING SYSTEM CONCEPTS	-	:
MA1201(4)	: ENGINEERING MATHEMATICS	-	:
PH1201 (4)	: PHYSICS	-	
PH1201 (4)	: PHYSICS	-	

Disclaimer

Disclaimer

ME3001(3)

: THERMODYNAMICS

 $\begin{tabular}{ll} \hline & Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / (SS/19) / 2018-2019 \\ By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2019 \\ \hline \end{tabular}$ 

Date : JULY-2019

SESSIC	ON : 2018-2019	CLASS : BE-l	MECI	I		В	RANCH	ENGIN	EERING					S	EMESTER	/ TRIME	STER :	SUMME	₹		MONTH OF EXA	M : JUNE	2-2019
			U	AM1	201(4)	EC20	001(3)	EE2	201(4)	GA400	08 (1)	HU4	001 (3)	MA1	201(4)	ME2	001 (3)	ME3	001(3)				
ROLL NO	NAME		L	ME30	003 (3)	ME3	005(4)	ME4	003(4)	ME50	03(4)	ME5	005(3)	PE3	001(3)	PH12	201 (4)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u></u>
BE/6011/16	SAGAR TIRKEY		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28.0	4.0	7.00	_
			L	-	-	B+	28.0	-	-	-	-	-		-	-	-	-	-	-				
BE/6013/16	RAJEEV KUMAR		Ŭ	-	-	С	15.0	-	-		-	-		С	20.0	-	-	-	-	35.0	7.0	5.00	-
			L	-	-	-	-	-	-		-	-	-	- D	16.0		-	-	-		1		
BE/6014/16	PRATIK KUMAR KUDADA		ī	В	18.0	D	16.0	-	-			-			16.0	-	-	-		50.0	11.0	4.55	-
			U	С	20.0	-	- 10.0	-	H		=	H		F	0.0			<del>-</del>					
BE/6037/16	KUMAR GAURAV		L	-	-	В	24.0	-	-	-	-	-	-	-	-	-	-	-	-	44.0	12.0	3.67	-
DE/COAL/IC	A DAMGUERY ANALYSIS		U	-	-	-	-	-	-	-	-	-	-	D	16.0	-	-	С	15.0	50.0	11.0	5.26	
BE/6044/16	ABHISHEK ANAND		L	-	-	-	-	-	-	-	-	-	-	-	-	B+	28.0	-	-	59.0	11.0	5.36	-
BE/6075/16	VASU BADYAL		U	-	-	С	15.0	-	-		-	-		D	16.0	В	18.0	-	-	49.0	10.0	4.90	_
BE/00/3/10	VASO BADTAL		L	-	-	-	-	-	-			-		-		-	-	-	-	49.0	10.0	4.50	
BE/6124/16	ANKIT SUMAN		U	D	16.0	C	15.0	-	-	-	-	-	-	С	20.0	-	-	-	-	51.0	11.0	4.64	_
DE 012 # 10	THAILT BOMEN		L	-	-	-	-	-	-		-	-		-		-	-	-	-	31.0	11.0		
BE/6125/16	AMISH KUMAR		U	-	-	-	-	-	-	-	-	B+	21.0	-	-	-	-	С	15.0	63.0	12.0	5.25	_
			L	-	-	-	-	-	-		-	D	12.0	С	15.0	-	-	-	-		ļ		
BE/6137/16	VICKY SAH		Ü	F	0.0	-	-	-	-	-	-	-	-	-	-	-		-	-	00.0	12.0	0.00	-
			L	-	-	- В	18.0	F	0.0	F	0.0	-		- C	20.0	-	-	-	-				
BE/6155/16	ASHISH KUJUR		T.		-		10.0	-	-		-	-		-	20.0		-		-	38.0	7.0	5.43	-
			U	С	20.0	-	- 1	C	20.0				<del>-</del>	<del>-</del>	<del>-</del>			-	_				
BE/6156/16	KESHAV MADHAV		L	-	-	-	-	B+	28.0		-	-		-		-	-	-	-	68.0	12.0	5.67	-
DE/(150/1)			U	-	-	-	-	-	-	A	8.0	-	-	-	-	-	-	-	-	20.0	1.0	0.00	
BE/6158/16	AMRIT KUMAR		L	-	-	-		-	-	-	-	-		-	-		-		-	08.0	1.0	8.00	-

AM1201(4)	: ENGINEERING MECHANICS	ME3003 (3)	: FLUID MECHANICS AND HYDRAULICS
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	ME3005(4)	: MECHANICS OF SOLIDS
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	ME4003(4)	: MECHANICS OF MATERIALS
GA4008 (1)	: CREATIVE ARTS	ME5003(4)	: KINEMATICS & KINETICS OF MACHINES
HU4001 (3)	: FOREIGN LANGUAGE (FRENCH)	ME5005(3)	: DESIGN OF MACHINE ELEMENTS
MA1201(4)	: ENGINEERING MATHEMATICS	PE3001(3)	: METALLURGY
ME2001 (3)	PRINCIPLES OF MECHANICAL ENGINEERING	PH1201 (4)	· PHYSICS

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / (SS/19) / 2018-2019

By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2019

Date : JULY-2019

SESSIO	N : 2018-2019 CLASS : 1	E-MECI	ł		В	RANCH	: ENGIN	NEERING						SEMEST	ER / TRIN	/IESTER	: SUMM	1ER		MONTH OF EXA	.M : JUN	E-2019
ROLL NO	NAME	U L		201(4)		302(3) 202(2)	CS23	301(4)	CS23	302(2)	GA20	06(1)	ME3	005(4)	ME5	002(2)	ME5	006(2)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6162/16	SUMEET RANJAN	U	В	24.0	-	-	-	-	-	-	-	-	-	-	A+	18.0	A	16.0	58.0	8.0	7.25	
BE/0102/10	SUMEET RANJAN	L		-	-	-	-	-	-	-	-	-	-	-	-	-		-	36.0	8.0	1.23	-
BE/6168/16	ABHISHEK ANAND	U	В	24.0	A	24.0	-	-	-	-	-	-	В	24.0	-	-	-	-	72.0	11.0	6.55	
DE/0108/10	ABRISHER ANAND	L		-	-		-	-	-	-	-	-	-	-		-		-	72.0	11.0	0.33	-
BE/6171/16	WASIM KHAN	U	-	-	-	-	С	20.0	B+	14.0	A	8.0	-	-	- 1	-	- 1	-	74.0	11.0	( 72	
BE/61/1/16	WASIM KHAN	L	A	16.0	A	16.0	-	-	-	-	-	-	-	-	-	-		-	/4.0	11.0	6.73	-

AM1201(4) CS1302(3)	: ENGINEERING MECHANICS : FUNDAMENTALS OF UNIX & C PROGRAMMING	PE1202(2) : WORKSHOP PRAG PH1202(2) : PHYSICS LAB	CTICE
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	- ' '	1
CS2302(2)	: DATA STRUCTURE LAB	÷ :	tandey.
GA2006(1)	: PT & GAMES	<del>-</del> :	
ME3005(4)	: MECHANICS OF SOLIDS	÷ :	Controller of Examinations
ME5002(2)	: IC ENGINE LAB	÷ :	
ME5006(2)	: CADD LAB	-	

Disclaimer